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1. create server; -- host:port:dbname:other_ops
2. create user mapping; -- auth
3. create foreign table; -- table ddl mapping
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why sharding based on fdw?

masi1=> (-:-:pluin (dndlu/t',l.u-rlm')v,lininq,l:Us!s,lluilvl'*.) select * from userinfo order by uid desc limif 10;
QUERY PLAN

Limit (cost=400.04..400.47 rows=10 width=48) (actual time=3.075..3.084 rows=108 loops=1)
Output: useripfo—@-uid;—userinfn_0.info, userinfo_B.crt_time
> | D ] {(cost=400.04..593.58 rows=4548 width=48) (actual time=3.0673..3.080 rows=10 loops=1)
Sort Key: userinfo 0O.uid DES
> Foreign-Scan—ondigoal .userinfo 08 (cost=100.00..148.38 rows=1137 width=48) (actual time=0.844..0.845 rows
Output: userinfo_0.uid, userinfo_0.info, userinfo_B.crt_time
Remote SQL: SELECT uid, info, crt time FROM role@.userinfo 0 ORDER BY uid DESC NULLS FIRST
Foreign Scan on digoal.userinfo_1 {(cost=100.00..148.38 rows=1137 width=48) (actual time=0.733. rows
Output: userinfo_1.uid, userinfo_1.info, userinfo_1.crt_time
Remote SQL: SELECT uid, info, crt time FROM role1.userinfo 1 ORDER BY uid DESC NULLS FIRST
Foreign Scan on digoal.userinfo_ 2 (cost=100.80..148.38 rows=1137 width=48) (actual time=0.714.
Output: userinfo 2.uid, userinfo_2.info, userinfo_2.crt_time
Remote SQL: SELECT wid, info, crt time FROM role2.userinfo 2 ORDER BY uid DESC NULLS FIRST
Foreign Scan on digoal.userinfo 3 (cost=180.00..148.38 rows=11: width=48) (actual time=0.776..08.776 rows
Output: userinfo_3.uid, userinfo_3.info, userinfo_3.crt_time
Remote SQL: SELECT wid, info, crt time FROM role3.userinfo 3 ORDER BY uid DESC NULLS FIRST
Planning time: 0.261 ms
Execution time: 4.007 ms
(18 rows)

mas1=> explain verbose update userinfo_1 set info=info where uid=1;
QUERY PLAN

Update on digoal.userinfo_1 {cost=100.00..123.22 rows=5 width=54)
> Foreign Update on digoal.userinfo 1 (cost=100.00..123.22 rows=5 width=54)
LIS I UPDATE role1.userinfo 1 SET info = info WHERE ({uid = 1))
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CASE

segment 1:127.0.0.1:5281:db0:role0:pwd , schema_name role0
segment 2 : 127.0.0.1:5281:db1:rolel:pwd , schema_name rolel
segment 3:127.0.0.1:5281:db2:role2:pwd , schema_name role2
segment 4 :127.0.0.1:5281:db3:role3:pwd , schema_name role3
master 1:127.0.0.1:5281:masl:digoal:pwd , schema_name digoal
master 2 : 127.0.0.1:5281:mas2:digoal:pwd , schema_name digoal

PostgreSQL 9.6
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— create extension pg_pathman
— create foreign server for all datanode on routenode
— run DDL on all DATANODE
— import foreign schema on routenode
— create partition table on routenode
— attach foreign table to partition table(specify range or hash bound)
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